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D 72+6x3=12=236

@ 80+(5%x2)=80+10=38
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@ 3x(45+9)=3x5=15
® 5x(18+3)=5x6=30
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228 — 360 + 24 x 3 = 223
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Ir

B

AR A4Ee] SRt AL A= FAT e Al& WA AAbst
A} A0 Lp-Z-of] Al4tghet.

ojmj I}t QoW D E 7P WA ALkt
228360+ 24x3 ] AAFA}7} 223 0] H#HH 2281} 360+24x 3
O] Z}7} 223 0] & ofof gttt
whabA] 360 + 24 x 3 = 57} E|ojof s 2
24 x 35 Lo g Fofof gt




A T EANE FE0l 128247t AFHH. °] F9NE

7 319 SPY 1283 24 5P 13 ol Uire] Felx ghet.
spgolA B A4 F9 S5

reb b o

= 7h

>
> ®eb: 37

~&B

TF&9 #= (12x7) 7olX, A &= (12 + 13) Folth
(12x7-9)+ (124 13)

=(84-9)+25

=75+ 25 = 3(70)




ol A 5]9] a7} o 22 800 ¢, olFlol= 300 YAtk of]
AN AT AR ol 521, olslol 1 0 ol gl k.

o2} Bl w5t o ol= 132 - 120 = 12 (
ong

12 x 300 = 3600 (¥)°] &
J2EE 0% ol o] X =
25200 — 3600 = 21600 () ©] H}.
o] EAAEE 800(Y) B,
21600 + 800 = 27 (*3)

oA Q&5 Rt ol &2

452 + 27 = 479 (§) °]t}.

oE
inj
o
X
ot
Ok
3R




6. Theol 2718 Hwalel O] < > Ei = 2 ERfA 2

430 — (240 4 126) O 430 — 240 + 126

iy

vV V¥
02

o

A

430 — (240 + 126) = 430 — 366 = 64
430 — 240 + 126 = 190 + 126 = 316
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